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LAW (PAPER-ILI)

( Penal, Revenue and Local Laws )

Time Allowed | Three Hours Maximum Marks @ 200

SPECIFIC INSTRUCTIONS

Candidate should answer six questions in all. Question Nos. 1 and 2 are compulsory and resl
two cach should be from Section—A and Section—B.

Marks carricd by each question are indicated at its end.

1. 7 9931 d14 gwa=<) dfufm, 1953 § g tayH & A etatEs = geeEn
As per the provisions of the UP Consolidation of Holdings Act, 1953, cxplain the

following ;
rﬂ} b ot Perd ":ﬁ—?i
Consolidation area 10

(h) HTH 49T

Tenure holder 10
(c) Sd 1 =wadl % W uE 3Ry

Aims and objectives of consohdation of holdings 10
(d) TFARY gFedl 7 R e

Essential requirements of consolidation scheme 10

2. fofeifEa @, 30 won v=EE T afufmm, 1047 § St waam & awta, fewfual fafian .

As per the provisions of the UP Panchavat Raj Act, 1947, write notes on the
following :
fa) A TEAA

Nyaya Panchayat 10
(b) TH TETEA

Gram Panchayat 10
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() T EEATGOTE SRR GTAT S A9 S A1 S| oF TRl 9 el e e Hedr By
At T afnr Fed amgufed sl Ay srglm st @ wefm 2, 9 T8 wEa e
I FA? JHHE |
Can a Bhumidhar with transferable rights bequeath his holding or any part
of 1t?
If such Bhumidhar belongs to a Scheduled Castle or Scheduled Tribe, what
shall be his position in this regard? Explain,

(b} faricifian Tmen A SAulten & #9594
Point out the order of inheritance in the following cascs :

() == U g g s R e S oA

A male Bhumidhar dies leaving behind his
(1) #Afcariea ag¥)

unmarried daughter

(2) Hid
moiher

(3) foar
father

(i) sl ek BT AT A9 i M ) BTes WA R

A female landholder dies leaving behind her

(1) T
husband

(2) 1A
son

(3) il
daughter

Hus—d [/ SECTION—B

(@) TRETSE ARl & W W 87 9 9vs g@iEn, 1860 # st w-ferfa w4
e 27 FHAEY|
Whal do you understand by mens rea? Whal is the importance ol_mens rea
under the Indian Penal Code, 18607 Discuss.

) F W TEE W e d AR W oww o w Y wee T wd R e e e ufy
G A R et 1 2 e T T ot | o = 1 - e M - | B e B e A e R
il 21 g8l T e "ansu)

A is married ta a female B. B docs not remain satisfied by her husband A. One
day leaving her husband A’s house she goes to the house of her paramour C
and there she remains with C as husband and wife. Discuss here C's offence.

fa) STEErE 3R T ARE e o I e s e st

Define and distinguish between forgery and cheating.
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(b}
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‘%', @ W EEAiE TF geE 94 (998 oA o wifera =8 2, vF ¥ m2e (S W) 4 =
cAdl ? #1260 29 Al eud HiHE #RFW R TN T I FE sy whe fEw R w5 i
N L el

A picks up a bearer cheque signed by B from a bank counter. No amount is
shown in the cheque. A inserts ten thousand rupees in the cheque. Has A
committed any offence? Answer with reasons.

‘# U wEET A T w0 A A Tl @ mm e w o g afed e a8
Hvi—rwmmrimm > TEE (€Ee) T30 AT AW U oF 21 0 F A R A9
ST R FTW |iEd T A

A takes a golden ring from a goldsmith for showing it to his wife but does not
return it to the goldsmith. A retains it against the debt due to him from the
goldsmith., Has A committed anyv offence? Answer by giving reasons.

= & FW=n 91 T4 F 99y ° 9 gag 1 vnda eve dfed, 1860 FY 4041 354 F HeATd
appry fafy (F9mem) -ﬂﬁmm, 2013 T o9 39 ' # 99F = T, 3% 9EEE
Explain the diffcrent forms of outraging of moedesty of a woman which in recent
past the Criminal Law (Amendment) Act, 2013 has enumerated under Secction
354 of the Indian Penal Code, 1860.

AW il e Al A B sy e ] w1 gEE ) BEEE g St 5 oAl o)
TqE HAC FA9 I H e § HiiE aw o I = dife

Explain ‘preparation to commit crime’ and ‘attempt to commit crime’, and point
out the distinction between them. Answer with the help of suitable illustration
or deecided cases.

4 U d1A-THAT () F2E Fal ¢ SR g7 & 600 F GH AR Y3 W oAl § A91F 5 A
® TF 3591 79 @t 70 37 w7 R e w1 am 9 w1 R F 3 wR-T Juny
T 27 = w@fzw 7 difsg

A poes to a three-star (***) hotel and there consumes foods and drinks Lo the
sum of ¥ 600 knowing that his pockets are emptv. He could not pay the
amount. What offence has been committed by A? Answer with reasons.

srqoferrs - R Fed 37 00 sy A faa-fm aEl o fag fee S0 s@sge R
AT =g - o Csiye it B e oo Fifiw) s 2R seTem At )

What 1s Criminal Breach of Trust? What facts are to be proved for such

offence? Point out the difference between ‘Criminal Breach of Trust’ and
‘Criminal Misappropriation’. Support your answer with examples.

= A FEE ) 34 90 HEL £ veEd 8 |9 94 81 | g g &) 4@ 8 221 2dl )
| AT HTa e R R

A climbed upon the roof of his house with the help of a ladder. I3 intentionally
pulls the ladder. What offence has been committed by B?
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